'Scenario Weighting Worksheet

Members of IMT discuss and analyse plausible scenarios.

Worksheets Protect - Password = landsar

Scenario Description of scenario
1 #DIV/0!
2 #DIV/0!
3 #DIV/0!
4 #DIV/0!
5 #DIV/0!
6 #DIV/0!
Each participant then works independently.
Select the most likely scenario, and assign it a value of 100
Then assign a score between 10 and 100 to all other scenarios,
based on the relative likelihood of that scenario, compared to the one they thought most likely.
Transfer the results to this worksheet.
Participants name Scenario 1 Scenario 2 Scenario 3 Scenario 4 Scenario 5 Scenario 6 ROW
0
0
0
O sum of
column Without
totals ROW
Column totals 0 0 0 0 0
Scenario % consensus #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!
Consensus without ROW #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!




Scenario 1

0

to the most likely region of 100.

Each member of IMT works independently.
For scenario 1 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.

Transfer their scores to the table below.

LAND

Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared

SAR

for Scenario 1

Region Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region
Participants Name A B C D E F G H | J K L
Sum of
Column
Totals
Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/0O!  #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/O! %
#DIV/0!




Scenario 2 0

LAND@>SAR

Each member of IMT works independently.
For scenario 2 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared
to the most likely region of 100.

Transfer their scores to the table below.

Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region
Participants Name A B C D E F G H | J K L
Sum of
Column
Totals
Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! %
#DIV/0!

for Scenario 2




Scenario 3 0

LAND@®SAR

Each member of IMT works independently.
For scenario 3 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared

to the most likely region of 100.

Transfer their scores to the table below.

Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region
Participants Name A B C D E F G H | J K L
Sum of
Column
Totals
Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! %
#DIV/0!

for Scenario 3




Scenario 4. 0
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Each member of IMT works independently.

For scenario 4 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.
Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared
to the most likely region of 100.

Transfer their scores to the table below.

Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region

Participants Name A B C D E F G H | J K L
Sum of
Column
Totals

Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! %

#DIV/0!

for Scenario 4




Scenario 5 0

LAND@>SAR

Each member of IMT works independently.

For scenario 5 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared

to the most likely region of 100.

Transfer their scores to the table below.

Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region

Participants Name A B C D E F G H | J K L
Sum of
Column
Totals

Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! %

#DIV/0!

Scenario 5. Found a friend




Scenario 6. 0
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Each member of IMT works independently.

For scenario 6 alone, select the region which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other regions, depending on how likely the missing person is in that region, compared

to the most likely region of 100.

Transfer their scores to the table below.

Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region
Participants Name A B C D E F G H | J K L
Sum of
Column
Totals
Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0
Consensus POA #DIV/O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0O! #DIV/0! #DIV/0! #DIV/0! #DIV/0O! #DIV/0! #DIV/0! %
#DIV/0!

for Scenario 6




POA based on percentage weighting of each scenario

This worksheet takes the weighting of each scenario and calculates the resulting POA for each region.

First ROW percentage is removed and the scenario analysis re calculated to give 100%, excluding ROW
ROW % = | #DIV/0! |ROW Value from the Scenario Weighting Worksheet |

Scenario | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region | Region
B C D E F G H | J K L

Scenario | % consensus A
Scenario 1 #DIV/0! #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/0O! | #DIV/0! | #DIV/0! | #DIV/0!
Scenario 2 #DIV/0! #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0! | #DIVI/O! | #DIV/O! | #DIVIO! | #DIV/O! | #DIV/0! | #DIV/0! | #DIV/Q! | #DIV/Q!
Scenario 3 #DIV/0! #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!
Scenario 4 #DIV/0! #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0! | #DIV/O! | #DIV/O! | #DIVIO! | #DIV/O! | #DIV/0! | #DIV/O! | #DIV/Q! | #DIV/O!
Scenario 5 #DIV/0! #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/O! | #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!
Scenario 6 #DIV/0! #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0! | #DIVI/O! | #DIV/0O! | #DIV/O! | #DIV/O! | #DIV/0! | #DIV/0! | #DIV/Q! | #DIV/0!
We'ght:fe:;f:):mg | upiv/or | #piv/or | #pivyor | #piv/or | #pivyor | #pivyor | #biv/or | #biv/or | #bivyor | #bivyor | #pivyor | #pivsor
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